Scottish Public Attitudes & Opinion Monitor - Wave 12

SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/SP_vote2b In elections for the Scottish Parliament you have two votes.

Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Base : All
Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEM5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] () (b) © (d) (e) ® © () [0] [0)] K [0] (m) () (0) ()] (C)]
Unweighted Total 1003 450 553 83 118 377 425 423 143 142 285 738 131 94 261 742 320 220 1003
Weighted Total 1003 478 525 120* 157 359 367 418 128 191 254 653 232 89* 290 713 376 143 1003
Scottish Conservative 95 45 50 5 8 30 53 32 11 13 40 81 6 6 15 80 33 9 111
and Unionist Party 9%Iny 9% 9% 4% 5% 8% 14%xcde 8% 8% 7% 16%xgi 12%xI 3% 6% 5% 11%xn 9% 6% 11%
Scottish Labour 285 125 159 43 39 100 102 110 34 57 80 186 66 24 82 202 93 44 282
28% 26% 30% 36% 25% 28% 28% 26% 27% 30% 32% 29% 28% 27% 28% 28% 25% 31% 28%
Scottish Liberal 66 28 38 5 7 28 26 27 11 10 15 46 9 9 13 53 22 11 76
Democrat 7% 6% 7% 4% 5% 8% 7% 6% 9% 5% 6% 7% 4% 10% 4% 8% 6% 8% 8%
Scottish National Party 345 203 142 33 61 130 121 164 35 68 72 209 101 25 114 232 142 46 330
(SNP) 34%bjko 43%xb 27% 27% 39% 36% 33% 39%xhj 28% 36% 28% 32% 43%xkm  28% 39% 33% 38% 32% 33%
Scottish Trade Unionist 1 - 1 - - 1 - - - 1 - 1 - - 1 - - - 1
and Socialist Coalition/ * - * - - * - - - 1% - * - - * - - - *
Solidarity
Scottish Socialist Party 2 2 - - - - 2 - - 2 - - 2 - - 2 - - 1
* * R R R R * R R 1% R R 1% R R * R R *
Scottish Green Party 22 4 18 7 6 8 1 5 6 9 1 12 9 1 12 10 7 3 16
2%afjo 1% 3%xa 5%f 4%f 2%f * 1% 5%xgj 5%gj 1% 2% 4% 1% 4%x0 1% 2% 2% 2%
UK Independence Party 5 4 2 - - 2 3 2 - - 3 5 - - - 5 2 - 6
(UKIP) 1% 1% * - - 1% 1% * - - 1% 1%x - - 1% 1% - 1%
British National Party 3 3 - - 1 2 - 1 - 2 - - 2 1 1 2 1 - 2
(BNP) * 1% - - 1% 1% - * - 1% - - 1% 19%K| * * * - *
Independent candidate 11 3 8 1 2 1 7 5 1 - 5 9 - 1 1 9 3 2 13
1% 1% 1% 1% 1% * 2% 1% 1% - 2% 1% - 2% 1% 1% 1% 1% 1%
Christian Party/Scottish - - - - - - - - - - - - - - - - - - -
Christian Party - - - - - - - - - - - - - - - - - - -
Local candidate/ - - - - - - - - - - - - - - - - - - -
representative - - - - - - - - - - - - - - - - - - -
Other - - - - - - - - - - - - - - - - - - -

Fieldwork dates : 7th to 14th June 2012

Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base
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SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/SP_vote2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Base : All

Weighted Total
Undecided/Don't know

Refused
Would not vote

Not stated

Scottish Public Attitudes & Opinion Monitor - Wave 12

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEM5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] () (b) © (d) (e) ® © () [0] [0)] K [0] (m) () (0) ()] (C)]
1003 478 525 120* 157 359 367 418 128 191 254 653 232 89* 290 713 376 143 1003
113 39 75 22 19 38 33 47 21 25 20 66 27 16 34 79 50 17 109
11%a] 8% 14%xa 18%f 12% 11% 9% 11% 17%j 13% 8% 10% 12% 18%k| 12% 11% 13% 12% 11%
18 8 10 - 1 4 13 4 3 - 11 11 4 1 3 14 4 3 20
2% 2% 2% - * 1% 3%xe 1% 2% - 4%xgi 2% 2% 1% 1% 2% 1% 2% 2%
34 14 21 5 11 13 6 20 4 4 6 23 6 5 11 23 19 5 32
3%f 3% 4% 4% 7%f 4% 2% 5% 3% 2% 2% 4% 2% 6% 4% 3% 5% 4% 3%
3 1 2 - 2 1 - 2 1 - - 3 - - 2 1 - 2 4
* * * - 1% * - * 1% - - * - - 1% * - 1%xp *

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base
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SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/SP_vote2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?

Base : All

Unweighted Total
Weighted Total

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party

Scottish Green Party

UK Independence Party
(UKIP)

British National Party
(BNP)

Scottish Public Attitudes & Opinion Monitor - Wave 12

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP _votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
® @) (b) © () (e) ® @ (h) (0] @ K (0] (m) (n) (0)
1003 136 157 197 228 200 653 265 131 308 89 342 45 300 574 129 1003
1003 168 175 185 218 177 680 242 113 317 77* 357 a9+ 326 549 128 1003
95 5 10 23 23 25 51 34 95 - - - - 3 20 1 111
9%afijkmo 3% 6% 12%a 10%a 14%xaby 7% 14%xf 84%xijk - - - - 1% 16%xmo 1% 11%
I
285 63 59 44 52 38 214 44 - 285 - - - 28 228 29 282
28%eghjkim 38%xcde 34%e 24% 24% 22% 31%xg 18% - 90%xhjk - - - 8% 42%xmo  22%m 28%
I
66 5 6 14 18 18 39 23 - - 66 - - 7 55 4 76
7%hikm 3% 4% 8% 8% 10%xah 6% 9%: - - 86%xhik - - 2% 10%xmo 3% 8%
I
345 69 57 60 78 56 235 85 - - - 345 - 247 50 48 330
34%hijin 41% 33% 33% 36% 32% 35% 35% - - - 97%xhij - 76%xno 9% 38%r 33%
I
1 - - 1 - - 1 - - - - - 1 - 1 - 1
* - - 1% - - * - - - - - 20xik - * - *
2 - 2 - - - 2 - - - - - 2 2 - - 1
* - 1% - - - * - - - - - 3xik  * - - *
22 1 4 4 5 5 15 5 - - - - 22 7 9 6 16
2%i 1% 2% 2% 3% 3% 2% 2% - - - - 45%xhij 2% 2% 4% 2%
5 - - 1 4 1 1 4 - - - - 5 1 4 - 6
1% - - * 2%x * * 2%xf - - - - 10%xhij * 1% - 1%
k
3 - 1 2 - - 1 2 - - - - 3 1 2 - 2
* - 1% 1% - - * 1% - - - - 7o%xhij  * * - *
k

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base
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SCOTTISH PARLIAMENT ELECTION (Holyrood)

Q.7a/b SP_votela/SP_vote2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Base : All
Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP _votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
®) (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0)
Weighted Total 1003 168 175 185 218 177 680 242 113 317 I 357 49* 326 549 128 1003
Independent candidate 11 - 1 2 2 4 6 3 - - - - 11 - 9 2 13
1% - * 1% 1% 2% 1% 1% - - - - 22%xhij - 2%m 2%m 1%
k
Christian Party/Scottish - - - - - - - - - - - - - - - - -
Christian Party - - - - - - - - - - - - - - - - -
Local candidate/ - - - - - - - - - - - - - - - - -
representative - - - - - - - - - - - - - - - - -
Other - - - - - - - - - - - - - - - - -
Undecided/Don't know 113 13 27 22 24 22 81 26 17 31 10 9 4 18 69 27 109
11%km 8% 15% 12% 11% 12% 12% 11% 15%k 10%k 13%k 3% 9%K 5% 13%m 21%xmn 11%
Refused 18 I 5 3 3 4 1 10 6 2 1 1 2 1 1 14 2 20
2%ikm 3% 2% 2% 2% 1% 1% 2% 2% * 1% 1% 2% * 3%xm 2% 2%
Would not vote 34 I 6 5 8 8 6 22 10 - - - - - 9 16 10 32
3%hik 3% 3% 5% 4% 3% 3% 4% - - - - - 3% 3% 7%xmn 3%
Not stated 3 - - - 1 1 1 1 - - - - - 2 1 - 4
* - - - * 1% * * - - - - - * * - *

Fieldwork dates : 7th to 14th June 2012

Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base
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SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All undecided/don't know, or refused at Q7a/b

Unweighted Total
Weighted Total

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party
Scottish Green Party
UK Independence Party

(UKIP)
British National Party

(BNP)
Independent candidate
Other
Undecided/Don't know

Refused

Spoil ballot/spoil
ballot paper

Scottish Public Attitudes & Opinion Monitor - Wave 12

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEMS5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] () (b) © (d) (e) ® © () [0] [0)] K [0] (m) () (0) ()] (C)]

129 41 88 15 16 46 52 50 28 19 32 86 19 17 35 94 46 31 129

131 46* 84* 22%* 20** 43* 46* 51* 24** 25** 31+ I 32%* 17+ 37+ 93* 54* 20** 129

18 4 15 2 3 7 7 8 4 2 5 16 - 2 5 14 10 2 20
14% 8% 17% 11% 14% 15% 14% 15% 17% 7% 15% 21%x - 13% 13% 15% 19% 9% 16%

33 12 20 11 6 6 9 13 5 10 5 16 11 4 14 19 14 4 26
25% 26% 24% 52% 29% 15% 19% 26% 19% 39% 15% 21% 36% 27% 36% 20% 27% 17% 20%

11 5 6 - 1 2 7 3 1 1 6 6 3 2 2 9 2 2 13
8% 11% 7% - 7% 6% 16%x| 6% 6% 3% 19% 8% 9% 12% 4% 10% 4% 10% 10%

11 7 5 - 2 4 5 7 2 - 3 8 2 - 1 10 7 2 12
9% 15% 5% - 10% 10% 10% 13% 9% - 8% 11% 6% - 4% 11% 13% 8% 9%

2 1 1 - 1 1 - 1 1 - - - 1 1 1 1 1 1 2
2% 2% 1% - 5% 3% - 2% 4% - - - 3% 6% 3% 1% 2% 5% 2%

1 - 1 1 - - - 1 - - - - - - 1 - 1 - 1
1% - 1% 4% - - - 2% - - - - - - 2% - 2% - 1%

2 1 1 - 1 1 1 1 - - 1 2 - - - 2 - 1 3
2% 2% 2% - 5% 1% 2% 3% - - 3% 3% - - - 2% - 7% 2%

40 13 27 7 5 18 9 14 7 13 6 21 10 6 11 28 14 6 38
30%f 28% 32% 33% 27% 41%f 20% 28% 30% 50% 18% 27% 33% 38% 31% 30% 26% 31% 29%

12 4 8 - 1 3 9 3 3 - 7 6 4 1 2 10 3 2 13
9% 9% 9% - 3% 6% 19%x| 5% 11% - 22% 8% 14% 3% 4% 11% 5% 12% 10%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q
*small base; ** very small base (under 30) ineligible for sig testing
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Table 3

SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All undecided/don't know, or refused at Q7a/b

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEMS5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] () (b) © (d) (e) ® © () [0] [0)] K [0] (m) () (0) ()] (C)]
Weighted Total 131 46* 84* 22%* 20** 43* 46* 51* 24** 25** 31+ I 32%* 17+ 37+ 93* 54* 20** 129
None - -
Not stated 1 - 1 - - 1 - - 1 - - 1 - - 1 - 1 1
1% - 1% - - 2% - - 4% - - 1% - - 3% - 2% - 1%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI Ipsos MOR
*=Less than 0.5 %
Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base; ** very small base (under 30) ineligible for sig testing




SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All undecided/don't know, or refused at Q7a/b

Unweighted Total
Weighted Total

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party
Scottish Green Party
UK Independence Party

(UKIP)
British National Party

(BNP)
Independent candidate
Other

Undecided/Don't know

Refused

Scottish Public Attitudes & Opinion Monitor - Wave 12

Party support
Scottish Parliament

INDY1 Agree

Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP_votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
®) (@ (b) © (d) © (®) (@ (h) @ @ k) 0] (m) (n) (0
129 14 23 27 29 27 86 34 20 26 13 12 6 16 85 28 129
131 17+ 30 24 28+ 23+ 91* 31%* 18+ 33+ 11% 11% 5o 19+ 83+ 20+ 129
18 1 5 3 5 5 13 5 18 - - - - 1 15 2 20
14% 4% 15% 12% 17% 20% 14% 15%|  100% - - - - 7% 18% 7% 16%
33 2 12 9 8 1 26 7 - 33 - - - 6 22 5 26
25% 14% 42% 36% 29% 3% 28% 21% - 100% - - - 32% 26% 17% 20%
11 - - 4 4 2 7 3 - - 11 - - 1 8 2 13
8% - - 16% 16% 8% 8% 10% - - 100% - - 7% 10% 5% 10%
11 1 1 2 * 5 8 1 - - - 11 - 5 5 1 12
9% 6% 4% 7% 2% 24% 9% 4% - - - 100% - 26% 6% 4% 9%
2 - 2 - - - 1 1 - - - - 2 - 1 1 2
2% - 7% - - - 1% 3% - - - - 41% - 1% 4% 2%
1 - - - 1 - - 1 - - - - 1 1 - - 1
1% - - - 3% - - 3% - - - - 17% 5% - - 1%
2 - 1 1 - 1 2 - - - - - 2 - 2 - 3
2% - 3% 3% - 2% 2% - - - - - 43% - 3% - 2%
40 9 6 5 8 8 26 10 - - - - - 4 20 15 38
30% 50% 20% 20% 28% 36% 29% 31% - - - - - 23% 25% 52% 29%
12 5 3 2 2 1 7 4 - - - - - - 9 3 13
9% 26% 9% 6% 6% 2% 8% 12% - - - - - - 10% 11% 10%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o
*small base; ** very small base (under 30) ineligible for sig testing
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SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All undecided/don't know, or refused at Q7a/b

Scottish Public Attitudes & Opinion Monitor - Wave 12

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP _votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
®) (@ (b) © (d) © (®) (@ (h) @ @ k) 0] (m) (n) (0
Weighted Total 131 17+ 30 24+ 28+ 23+ 91+ 31%* 18+ 33+ 11% 11% 5o 19+ 83+ 20+ 129
Spoil ballot/spoil
ballot paper
None
Not stated 1 1 1 1 1
1% 5% 1% 1% 1%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o
*small base; ** very small base (under 30) ineligible for sig testing
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Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All

Unweighted Total
Weighted Total
TOTAL VOTING (net, base)

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party
Scottish Green Party

UK Independence Party
(UKIP)

British National Party
(BNP)

Independent candidate

Christian Party/Scottish
Christian Party

Local candidate/
representative

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEMS5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0) ()] @
1003 450 553 83 118 377 425 423 143 142 285 738 131 94 261 742 320 220 1003
1003 478 525 120* 157 359 367 418 128 191 254 653 232 89* 290 713 376 143 1003
913 446 467 108* 138* 324 343 380 112 174 236 599 212 77+ 263 650 339 127 915
113 49 65 7 10 36 59 39 15 15 44 97 6 8 20 94 43 11 131
12%ln| 11% 14% 7% 8% 11% 17%xcde  10% 13% 8% 19%xgi 16%xI 3% 10%lI 7% 14%xn 13% 9% 14%
317 137 180 55 45 107 111 123 39 67 85 202 77 29 96 221 107 47 308
35%a| 31% 39%x 51%xdef  33% 33% 32% 32% 35% 38% 36% 34% 36% 37% 36% 34% 32% 37% 34%
77 33 44 5 9 31 33 30 12 11 21 52 12 11 14 63 24 13 89
8% 7% 10% 4% 6% 9% 10% 8% 11% 6% 9% 9% 6% 14%l| 5% 10% 7% 10% 10%
357 210 147 33 63 135 126 171 38 68 74 218 103 25 115 241 150 48 342
39%bjk 47%xb 31% 31% 46% 42% 37% 45%xhj 34% 39% 32% 36% 48%xkm  33% 44% 37% 44%x 38% 37%
1 - 1 - - 1 - - - 1 - 1 - - 1 - - - 1
* R * R R * R R R 1% R * R R * R R R *
2 2 - - - - 2 - - 2 - - 2 - - 2 - - 1
* * R R R R * R R 1% R R 1% R R * R R *
24 5 19 7 7 9 1 6 7 9 1 12 10 2 13 11 8 4 18
3%afjko 1% 4%xa 6%f 59f 3%f * 2% 7%xgj 5%j 1% 2% 5% 2% 50%%0 2% 2% 3% 2%
6 4 2 1 - 2 3 3 - - 3 5 - - 1 5 3 - 7
1% 1% 1% 1% - 1% 1% 1% - - 1% 1% - - * 1% 1% - 1%
3 3 - - 1 2 - 1 - 2 - - 2 1 1 2 1 - 2
* 1% - - 1% 1% - * - 1% - - 1% 2%k 1% * * - *
13 4 9 1 3 2 8 6 1 - 6 11 - 1 1 11 3 4 16
1% 1% 2% 1% 2% 1% 2% 2% 1% - 3% 2%x - 2% 1% 2% 1% 3% 2%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base
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Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.

Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All

TOTAL VOTING (net, base)
Other

SNP lead over Labour

Undecided/Don't know
Refused

Would not vote

Spoil ballot/spoil

ballot paper
None

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEMS5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0) ()] @
913 446 467 108* 138* 324 343 380 112 174 236 599 212 77+ 263 650 339 127 915
39 73 -33 -22 18 28 15 48 -1 1 11 15 26 -3 19 20 43 * 34
4%bchi 16%xb -7% -20% 13%xf 9%xcf 4% 13%xhij -1% 1%h -4% 3%m 12%xkm -4% 7%Xx0 3% 13%xq * 4%
jkmoq
40 13 27 7 5 18 9 14 7 13 6 21 10 6 11 28 14 6 38
4%f] 3% 5% 6% 3% 5% 3% 3% 6% 7%j 2% 3% 4% 7% 4% 4% 4% 4% 4%
12 4 8 - 1 3 9 3 3 - 7 6 4 1 2 10 3 2 13
1% 1% 1% - * 1% 2%x| 1% 2% - 3%xg 1% 2% 1% 1% 1% 1% 2% 1%
34 14 21 5 11 13 6 20 4 4 6 23 6 5 11 23 19 5 32
3%f 3% 4% 4% 7%f 4% 2% 5% 3% 2% 2%

4%

4%

5%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base
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Table 5

Ipsos MOR




Scottish Public Attitudes & Opinion Monitor - Wave 12

Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All

Unweighted Total
Weighted Total

TOTAL VOTING (net, base)

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party

Scottish Green Party

UK Independence Party
(UKIP)

British National Party
(BNP)

Fieldwork dates : 7th to 14th June 2012

Page 11

Table 6

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP_votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
X @ (b) © (d (O] ® © (h) (0] (0} k) (0] (m) (W] ©)
1003 136 157 197 228 200 653 265 131 308 89 342 45 300 574 129 1003
1003 168 175 185 218 177 680 242 113 317 77 357 49+ 326 549 128 1003
913 149* 162 170 200 160 623 218 113 317 7 357 49* 311 501 101* 915
113 6 15 25 27 29 63 39 113 - - - - 5 105 3 131
12%afijklmo 4% 9% 15%a 14%a 18%xab 10% 18%xf  100%xijk - - - - 2% 21%xmo 3% 14%
I
317 66 72 53 60 39 239 51 - 317 - - - 34 250 33 308
35%eghjkim 44%xcde 44%xcde 31% 30% 24% 38%xg 23% - 100%xhjk - - - 11% 50%xmo  33%m 34%
I
77 5 6 18 22 20 46 26 - - 77 - - 8 63 6 89
8%ahikm 3% 4% 11%ab 11%ab 13%xab % 12%xf - - 100%xhik - - 3% 13%xm 6% 10%
I
357 70 58 62 78 62 244 86 - - - 357 - 252 55 49 342
399%hijln 47% 36% 36% 39% 39% 39% 40% - - - 100%xhij - 81%xno  11% 49%xn 37%
I
1 - - 1 - - 1 - - - - - 1 - 1 - 1
* - - 1% - - * - - - - - 20%xik - * - *
2 - 2 - - - 2 - - - - - 2 2 - - 1
* - 1% - - - * - - - - - 3%xik 1% - - *
24 1 6 4 5 5 16 6 - - - - 24 7 10 7 18
3%i 1% 4% 3% 3% 3% 3% 3% - - - - 49%xhij 2% 2% 7%xn 2%
k
6 - - 1 5 1 1 5 - - - - 6 2 4 - 7
1%f - - * 2%x * * 2%xf - - - - 12%xhij 1% 1% - 1%
3 - 1 2 - - 1 2 - - - - 3 1 2 - 2
* - 1% 1% - - * 1% - - - - 7%xhij  * * - *
k

Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base

Ipsos MOR




Scottish Public Attitudes & Opinion Monitor - Wave 12

Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All

TOTAL VOTING (net, base)
Independent candidate

Christian Party/Scottish
Christian Party

Local candidate/
representative
Other

SNP lead over Labour

Undecided/Don't know
Refused

Would not vote

Spoil ballot/spoil

ballot paper
None

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP_votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
x) (@) (b) © (d (©] 0] @ (h) 0] 0) k) 0] (m) (n) (0
913 149* 162 170 200 160 623 218 113 317 7 357 49* 311 501 101* 915
13 - 2 3 2 4 9 3 - - - - 13 - 11 2 16
1%K - 1% 2% 1% 3% 1% 1% - - - - 26%xhij - 2%m 2%m 2%
k
39 5 -13 9 18 23 5 36 0 -317 0 357 0 218 -195 16 34
4%Dbf 3% -8% 5% 9%xb 14%xabc 1% 17%xf 0% -100% 0% 100%xi 0% 70%xn  -39% 16%: 4%
o
40 | 9 6 5 8 8 26 10 - - - - - 4 20 15 38
4%hikm 5% 3% 3% 4% 5% 4% 4% - - - - - 1% 4% 12%xmn 4%
12 5 3 2 2 1 7 4 - - - - - - 9 3 13
1% 3% 2% 1% 1% * 1% 2% - - - - - - 2%m 3%m 1%
34 6 5 8 8 6 22 10 - - - - - 9 16 10 | 32
3%hik 3% 3% 5% 4% 3% 3% 4% - - - - - 3% 3% 7%xmn 3%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base
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Table 6

Ipsos MOR




Scottish Public Attitudes & Opinion Monitor - Wave 12

Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?

Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
CERTAIN TO VOTE

Unweighted Total
Weighted Total
TOTAL VOTING (net, base)

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party
Scottish Green Party

UK Independence Party
(UKIP)

British National Party
(BNP)

Independent candidate

Christian Party/Scottish
Christian Party

Local candidate/
representative

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEM5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0) ()] @
629 290 339 32 45 244 308 252 85 77 206 481 81 44 141 488 188 130 629
607 300 307 49** 63* 229 267 238 I 97* 185 408 141* 42* 155 452 216 79 629
581 294 288 46+ 62+ 219 254 232 73+ 90* 176 391 136* 39+ 149 433 209 78 603
71 30 41 - 2 25 43 24 10 6 30 63 3 4 11 60 27 7 87
12%I 10% 14% - 4% 12% 17%xd 11% 14% 7% 17% 16%xI 2% 11%lI 7% 14% 13% 9% 14%
184 80 104 17 16 70 81 67 21 27 64 123 43 13 53 131 55 28 190
32%a 27% 36%x 38% 25% 32% 32% 29% 29% 30% 36% 31% 31% 33% 36% 30% 26% 36% 32%
37 16 21 1 2 15 19 13 6 5 12 26 6 4 6 32 11 7 45
6% 5% 7% 3% 3% 7% 7% 6% 8% 5% 7% 7% 4% 9% 4% 7% 5% 8% 7%
264 160 105 24 38 100 102 120 31 46 62 162 77 18 69 196 110 32 255
45%Dbfjk 54%xb 36% 53% 61%xf 46% 40% 52%Xx] 42% 51%j 35% 41% 57%xk 45% 46% 45% 53%x 42% 42%
1 - 1 - - 1 - - - 1 - 1 - - 1 - - - 1
* R * R R * R R R 1% R * R R 1% R R R *
2 2 - - - - 2 - - 2 - - 2 - - 2 - - 1
* 1% - - - - 1% - - 2% - 1% - - * - - *
11 1 10 3 3 4 1 3 4 4 1 5 5 1 9 2 5 1 9
2%afjko * 4%xa 6% 6%f 2% * 1% 6%x0] 4% * 1% 4% 2% 6%x0 1% 2% 2% 1%
4 2 2 - - 1 3 1 - - 3 4 - - - 4 1 - 5
1% 1% 1% - - * 1% * - - 2% 1% - - - 1% * - 1%
7 3 4 - 1 2 5 3 1 - 4 7 - - 1 7 1 3 10
1% 1% 2% - 1% 1% 2% 1% 1% - 2% 2%x - - * 2% * 3%xp 2%

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q
*small base; ** very small base (under 30) ineligible for sig testing
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Table 7

Ipsos MOR
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Scottish Public Attitudes & Opinion Monitor - Wave 12

Table 7
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
CERTAIN TO VOTE

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEM5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0) ()] @
TOTAL VOTING (net, base) 581 294 288 46+ 62+ 219 254 232 73+ 90* 176 391 136* 39+ 149 433 209 78 603
Other
SNP lead over Labour 80 80 1 7 22 30 21 53 9 18 -2 39 34 5 15 65 55 4 65
14%bfik  27%xb * 15% 36%xef  14% 8% 23%x] 13%j 20%; -1% 10% 25%xk 12% 10% 15% 26%xq 5% 11%
q
Undecided/Don't know 15 3 12 3 - 6 6 3 1 7 5 8 3 3 3 12 4 - 14
3%a 1% 4%xa 6% - 3% 2% 1% 1% T%xg 3% 2% 2% 7% 2% 3% 2% - 2%
Refused 7 2 5 - - 1 6 2 1 - 4 6 2 - - 7 3 * 8
1% 1% 2% - - 1% 2% 1% 1% - 2% 1% 1% - - 2% 1% * 1%
Would not vote
Spoil ballot/spoil
ballot paper
None

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI Ipsos MOR
*=Less than 0.5 %
Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base; ** very small base (under 30) ineligible for sig testing
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Table 8
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
CERTAIN TO VOTE

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP _votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0)
Unweighted Total 629 91 108 110 142 128 421 158 87 190 45 255 26 220 340 69 629
Weighted Total 607 106* 117+ 94* 134 109 420 140 71* 184 37* 264 25** 232 308 67* 629
TOTAL VOTING (net, base) 581 102+ 112+ 92+ 130 102 404 134 71* 184 37+ 264 25%* 229 293 59* 603
Scottish Conservative 71 2 9 14 17 22 40 23 71 - - - - 3 65 3 87
and Unionist Party 12%afijkm 2% 8% 15%a 13%a 21%xab 10% 17%xf  100%xijk - - - - 2% 22%xmo 4% 14%
Scottish Labour 184 I 42 46 28 30 22 138 30 - 184 - - - 15 150 18 190
32%deghjkm 41%de 41%xde 31% 23% 22% 34%g 22% - 100%xhjk - - - 7% 51%xmo  30%m 32%
Scottish Liberal 37 I 2 3 4 15 11 27 8 - - 37 - - 3 34 * 45
Democrat 6%hikm 2% 3% 5% 12%xab 10%ab 7% 6% - - 100%xhik - - 1% 11%xmo 1% 7%
Scottish National Party 264 I 56 47 38 61 45 180 66 - - - 264 - 201 32 32 255
(SNP) 45%hijn 550 42% 41% 47% 44% 45% 49% - - - 100%xhij - 88%xno  11% 54%n 42%
Scottish Trade Unionist 1 - - 1 - - 1 - - - - - 1 - 1 - 1
and Socialist Coalition/ * - - 1% - - * - - - - - 4% - * - *
Solidarity
Scottish Socialist Party 2 - 2 - - - 2 - - - - - 2 2 - - 1
* - 1% - - - * - - - - - 6% 1% - - *
Scottish Green Party 11 - 4 3 3 2 10 1 - - - - 11 4 2 6 9
2%kn - 3% 3% 2% 2% 3% 1% - - - - 45% 2% 1% 9%xmn 1%
UK Independence Party 4 - - 1 3 1 1 3 - - - - 4 1 3 - 5
(UKIP) 1% - - 1% 2% 1% * 2% - - - - 16% * 1% - 1%
British National Party - - - - - - - - - - - - - - - - -
(BNP) - - - - - - - - - - - - - - - - -
Independent candidate 7 - 1 3 2 1 4 3 - - - - 7 - 7 1 10
1% - 1% 3% 2% 1% 1% 2% - - - - 29% - 2%xm 1% 2%
Christian Party/Scottish - - - - - - - - - - - - - - - - -
Christian Party - - - - - - - - - - - - - - - - -

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI Ipsos MOR
*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base; ** very small base (under 30) ineligible for sig testing
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Table 8
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
CERTAIN TO VOTE

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP _votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0)
TOTAL VOTING (net, base) 581 102+ 112+ 92+ 130 102 404 134 71* 184 37+ 264 25%* 229 293 59* 603
Local candidate/
representative
Other
SNP lead over Labour 80 14 * 10 31 22 42 36 0 -184 0 264 0 185 -119 14 65
14%bf 14%b * 10%b 24%xbc 22%xhq 10% 27%xf 0% -100% 0% 100%xi 0% 81%xn  -41% 24% 11%
o
Undecided/Don't know 15 3 2 1 1 5 10 3 - - - - - 2 9 4 14
3%i 3% 2% 1% 1% 5% 2% 2% - - - - - 1% 3% 6%m 2%
Refused 7 2 3 1 2 - 4 3 - - - - - - 4 3 8
1% 2% 2% 1% 1% - 1% 2% - - - - - - 1% 5%xm 1%
Would not vote
Spoil ballot/spoil
ballot paper
None

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI Ipsos MOR
*=Less than 0.5 %
Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base; ** very small base (under 30) ineligible for sig testing
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Table 9
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
DP CHECK TABLE combined VI by itself

Scottis
h Trade
Unionis Christi
Scottis tand an
Sociali Party/
Conserv Scottis Scottis st Scottis UK Scottis Local Spoil
TOTAL ative h h Coaliti h Indepen British Indepen h candida SNP Undecid ballot/
Unweigh VOTING and Scottis Liberal Nationa on/ Sociali Scottis dence Nationa dent Christi te/ lead ed/ Would spoil
ted Weighte (net, Unionis h Democra | | Party Solidar st h Green Party | Party candida an represe over Don't not ballot
Total d Total base) t Party Labour t (SNP) ity Party Party (UKIP) (BNP) te Party ntative Other Labour know Refused vote paper
Unweighted Total 1003 1003 915 131 308 89 342 1 1 18 7 2 16 - - - 34 38 13 32 -
Weighted Total 1003 1003 913 113 317 77 357 1 2 24 6 3 13 - - - 39 40 12 34 -
TOTAL VOTING (netY base) 915 913 913 113 317 7 357 1 2 24 6 3 13 - - - 39 - - - -
Scottish Conservative 131 113 113 113 - - - - - - - - - - - - 0 - - - -
and Unionist Party 14% 12% 12% 100% - - - - - - - - - - - - 0% - - - -
Scottish Labour 308 317 317 - 317 - - - - - - - - - - - -317 - - - -
34% 35% 35% - 100% - - - - - - - - - - - -804% - - - -
Scottish Liberal 89 77 77 - - 77 - - - - - - - - - - 0 - - - -
Democrat 10% 8% 8% - - 100% - - - - - - - - - - 0% - - - -
Scottish National Party 342 357 357 - - - 357 - - - - - - - - - 357 - - - -
(SNP) 37% 39% 39% - - - 100% - - - - - - - - - 904% - - - -
Scottish Trade Unionist 1 1 1 - - - - 1 - - - - - - - - 0 - - - -
and Socialist Coalition/ * * * - - - - 100% - - - - - - - - 0% - - - -
Solidarity
Scottish Socialist Party 1 2 2 - - - - - 2 - - - - - - - 0 - - - -
* * * - - - - - 100% - - - - - - - 0% - - - -
Scottish Green Party 18 24 24 - - - - - - 24 - - - - - - 0 - - - -
2% 3% 3% - - - - - - 100% - - - - - - 0% - - - -
UK Independence Party 7 6 6 - - - - - - - 6 - - - - - 0 - - - -
(UKIP) 1% 1% 1% - - - - - - - 100% - - - - - 0% - - - -
British National Party 2 3 3 - - - - - - - - 3 - - - - 0 - - - -
(BNP) * * * - - - - - - - - 100% - - - - 0% - - - -
Independent candidate 16 13 13 - - - - - - - - - 13 - - - 0 - - - -
2% 1% 1% - - - - - - - - - 100% - - - 0% - - - -
Christian Party/Scottish - - - - - - - - - - - - - - - - 0 - - - -
Christian Party - - - - - - - - - - - - - - - - 0% - - - -
Local candidate/ - - - - - - - - - - - - - - - - 0 - - - -
representative - - - - - - - - - - - - - - - - 0% - - - -
Other - - - - - - - - - - - - - - - - 0 - - - -

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Ipsos MOR
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Table 9
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
DP CHECK TABLE combined VI by itself

None
Unweighted Total

Weighted Total

TOTAL VOTING (net, base)

Scottish Conservative
and Unionist Party

Scottish Labour

Scottish Liberal
Democrat

Scottish National Party
(SNP)

Scottish Trade Unionist
and Socialist Coalition/
Solidarity

Scottish Socialist Party
Scottish Green Party

UK Independence Party
(UKIP)

British National Party
(BNP)

Independent candidate

Christian Party/Scottish
Christian Party

Local candidate/
representative

Other

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Ipsos MOR




Scottish Public Attitudes & Opinion Monitor - Wave 12

Q.7alb/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.

Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?

Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
DP CHECK TABLE combined VI by itself
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Table 9

Scottis
h Trade
Unionis Christi
Scottis tand an
h Sociali Party/

Conserv Scottis Scottis st Scottis UK Scottis Local Spoil

TOTAL ative h h Coaliti h Indepen British Indepen h candida SNP Undecid ballot/

Unweigh VOTING and Scottis Liberal Nationa on/ Sociali Scottis dence Nationa dent Christi te/ lead ed/ Would spoil

ted Weighte (net, Unionis h Democra | | Party Solidar st h Green Party | Party candida an represe over Don't not ballot

Total d Total base) t Party Labour t (SNP) ity Party Party (UKIP) (BNP) te Party ntative Other Labour know Refused vote paper

TOTAL VOTING (net, base) 915 913 913 113 317 77 357 1 2 24 6 3 13 - - - 39 - - - -

SNP lead over Labour 34 39 39 0 -317 0 357 0 0 0 0 0 0 0 0 0 674 0 0 0 0
4% 4% 4% 0%  -100% 0% 100% 0% 0% 0% 0% 0% 0% 0% 0% 0%  1708% 0% 0% 0% 0%

Undecided/Don't know 38 40 - - - - - - - - - - - - - - 0 40 - - -

4% 4% - - - - - - - - - - - - - - 0% 100% - - -

Refused 13 12 - - - - - - - - - - - - - - 0 - 12 - -

1% 1% - - - - - - - - - - - - - - 0% - 100% - -

Would not vote 32 34 - - - - - - - - - - - - - - 0 - - 34 -

3% 3% - - - - - - - - - - - - - - 0% - - 100% -

Spoil ballot/spoil - - - - - - - - - - - - - - - - 0 - - - -

ballot paper - - - - - - - - - - - - - - - - 0% - - - -

None - - - - - - - - - - - - - - - - 0 - - - -

Fieldwork dates : 7th to 14th June 2012

Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Ipsos MOR
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Table 9
Q.7a/b/c SP_votela/2b/3c COMBINED VOTING INTENTION - SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.7a/b SP_votela/2b In elections for the Scottish Parliament you have two votes.
Your first vote is for a member to represent the constituency. If there were elections to the Scottish Parliament tomorrow, how would you use your first vote?
Would you vote......?
Q.7c SP_vote3c Which party are you most inclined to support?

Base : All
DP CHECK TABLE combined VI by itself

None
TOTAL VOTING (net, base)

SNP lead over Labour 0
0%

Undecided/Don't know
Refused

Would not vote

Spoil ballot/spoil

ballot paper
None

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI
*=Less than 0.5 %

Ipsos MOR




SCOTTISH PARLIAMENT ELECTION (Holyrood)
Q.8 SP_LIKEV And, how likely would you be to vote in an immediate Scottish Parliamentary election, on a scale of 1 to 10,
where 10 means you would be absolutely certain to vote and 1 that you would be absolutely certain NOT to vote?

Base : All

Unweighted Total
Weighted Total

1 (Absolutely certain
not to vote)

2

10 (Absolutely certain
to vote)

Don't know
Mean

Standard Deviation

Scottish Public Attitudes & Opinion Monitor - Wave 12

Total Employment status Children in Unweigh
(Weight AGE of respondent Home ownership household Sector ted
ed) Gender Q2c/Q2cr (Q.4) (DEM2) (DEMS5) (PSEC) Total
Private
Working | Working Owner Rent /Self-
55 or (full (part- Not occup council Rented empl
Male Female 18-24 25-34 35-54 more time) time) working Retired ied IHAT private Yes No -oyed Public All
03] (@) (b) © (d) (e) ® ()] (h) [0] @ k) [0] (m) (n) (0) (p) @
1003 450 553 83 118 377 425 423 143 142 285 738 131 94 261 742 320 220 1003
1003 478 525 120* 157 359 367 418 128 191 254 653 232 89* 290 713 376 143 1003
41 15 26 2 11 14 14 18 5 5 12 20 12 7 13 28 14 9 40
4%k 3% 5% 1% 7% 4% 4% 4% 4% 3% 5% 3% 5% 8%K| 4% 4% 4% 6% 4%
7 4 3 2 2 3 - 4 - 3 - 7 - - 1 6 4 - 5
1% 1% 1% 2% 1% 1% - 1% - 1% - 1%x - - * 1% 1% - *
21 7 14 9 4 6 2 10 4 7 - 10 10 2 8 13 12 2 15
2%fjk 1% 3% T%xef 3% 2% 1% 2%j 3%j A4%j 2% 4% 2% 3% 2% 3% 1% 1%
7 7 1 5 - 2 1 1 - 6 1 7 - - 7 1 1 - 6
1%bo 1%b * 4%xef - 1% * * - 3%xg * 1% - - 2%x0 * * - 1%
68 29 40 9 19 25 14 38 10 9 10 40 15 10 21 47 30 14 66
7%fj 6% 8% 7% 12%xf 7% 4% 9%Xj 8% 5% 4% 6% 7% 11% 7% 7% 8% 9% 7%
42 17 25 11 4 20 7 19 6 13 5 24 12 5 14 28 16 9 40
4%fj 4% 5% 9%xf 3% 6%f 2% 5% 4% T%j 2% 4% 5% 6% 5% 4% 4% 6% 4%
57 26 32 14 15 16 13 23 3 22 8 27 19 9 24 33 21 5 49
6%fjko 5% 6% 12%xef 9%f 4% 4% 5% 3% 12%xghj 3% 4% 8% 10%k| 8%0 5% 6% 4% 5%
79 43 36 13 21 28 17 42 12 14 12 63 9 5 25 54 35 16 76
8%fj 9% 7% 11%f 13%xf 8% 5% 10%j 9% 7% 5% 10%xI 4% 5% 9% 8% 9% 11% 8%
63 28 35 8 15 13 27 25 8 12 17 44 9 10 19 43 23 9 67
6%e 6% 7% 7% 10%e 4% 7%e) 6% 6% 6% 7% 7% 4% 11%lI 7% 6% 6% 6% 7%
607 300 307 49 63 229 267 238 77 97 185 408 141 42 155 452 216 79 629
61%cdim  63% 59% 41% 40% 64%cd 73%xcde  57% 60% 50% 73%xghi  62%xm 61% 47% 53% 63%xn 58% 56% 63%
n
10 3 7 - 2 2 6 1 2 3 4 4 6 - 2 8 2 1 10
1%gk 1% 1% - 1% 1% 2% * 2%g 2% 2% 1% 2% - 1% 1% 1% * 1%
1
8.47cdm  8.62 8.34 7.66 7.69 8.50cd 9.04xcd 8.30 8.45 8.09 8.99xgh 8.62xm 8.30 7.85 8.17 8.59xn 8.33 8.24 8.59
n e i
2.46 2.32 2.58 2.54 2.75 2.47 2.12 2.52 2.51 2.52 2.25 2.33 2.66 2.79 2.57 241 2.53 2.59 2.39

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public
J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.

Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b - x/c/d/elf - x/g/hlilj - x/k/l/m - x/n/o - x/p/q

*small base
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Table 10

Ipsos MOR




Scottish Public Attitudes & Opinion Monitor - Wave 12

SCOTTISH PARLIAMENT ELECTION (Holyrood)

Q.8 SP_LIKEV And, how likely would you be to vote in an immediate Scottish Parliamentary election, on a scale of 1 to 10,

where 10 means you would be absolutely certain to vote and 1 that you would be absolutely certain NOT to vote?

Base : All

Unweighted Total
Weighted Total

1 (Absolutely certain
not to vote)

2

10 (Absolutely certain
to vote)

Don't know
Mean

Standard Deviation

Party support
Scottish Parliament INDY1 Agree
Total Holyrood Scotland should be | Unweig
(Weigh Affluence of area First vote - constituency an independent hted
ted) 20% zones Urban/rural (SP_votela/2b/3c, Q7a/b/c) country? Total
Scot
-tish
Con &
Union Scot Scot
1 Most 5 Least -ist -tish -tish Undeci
deprived 2 3 4 deprived Urban Rural Party Lab LD SNP Other Yes No ded
x) (@) (b) © (d (©] 0] @ (h) 0] 0) k) 0] (m) (n) (0
1003 136 157 197 228 200 653 265 131 308 89 342 45 300 574 129 1003
1003 168 175 185 218 177 680 242 113 317 777 357 49+ 326 549 128 1003
41 8 4 9 10 4 23 13 3 5 - 2 2 12 21 8 40
4%i 5% 3% 5% 5% 2% 3% 6% 2% 2% - 1% 5%K 4% 4% 6% 4%
7 1 1 2 1 2 6 1 1 - 1 1 2 3 4 - 5
1% 1% 1% 1% 1% 1% 1% * 1% - 1% * 2%xik 1% 1% - *
21 3 5 6 5 1 12 7 2 12 - 1 3 10 6 5 15
29k 2% 3% 3% 2% * 2% 3% 1% 4%k - * 6%k 3% 1% 4%n 1%
7 - 2 3 2 1 7 - - 5 1 2 - - 7 - 6
1% - 1% 2% 1% * 1% - - 1% 1% 1% - - 1%x - 1%
68 7 13 20 10 14 46 18 5 24 10 13 3 18 37 12 66
7%k 4% 7% 11%xd 4% 8% 7% 7% 5% 8% 13%xhk 4% 7% 6% 7% 10% 7%
42 6 8 4 7 9 30 5 6 9 7 12 3 8 30 5 40
4% 4% 5% 2% 3% 5% 4% 2% 5% 3% o%xik 3% 5% 2% 5% 4% 4%
57 20 5 13 10 5 42 12 4 26 3 18 1 14 39 5 49
6% 12%xbde 3% 7% 5% 3% 6% 5% 4% 8% 4% 5% 3% 4% 7% 4% 5%
79 9 12 16 20 15 48 23 14 29 8 19 5 13 55 12 76
8%k 5% 7% 9% 9% 9% 7% 10% 13%xk 9% 11% 5% 10% 4% 10%xm  9%m 8%
63 4 5 15 17 17 39 20 7 23 9 21 3 17 37 8 67
6% 3% 3% 8% 8% 9%ab 6% 8% 6% 7% 129%x 6% 6% 5% 7% 6% 7%
607 106 117 94 134 109 420 140 71 184 37 264 25 232 308 67 629
61%c 63%¢ 67%¢ 51% 62%c 62% 62% 58% 62% 58% 48% 74%xhi  52% 71%xno  56% 52% 63%
jl
10 2 2 2 1 1 7 2 1 1 1 2 1 - 4 6 10
1% 1% 1% 1% 1% * 1% 1% 1% * 1% 1% 2% - 1% 5%xmn 1%
8.47c 8.53 8.62 8.03 8.56 8.70c 8.53 8.37 8.73 8.51 8.36 9.22xh  7.88 8.77xn  8.38 8.06 8.59
ijl o
2.46 2.44 2.39 2.69 2.47 2.17 2.39 2.60 2.15 2.24 2.05 1.64 2.93 2.40 2.41 2.78 2.39

Fieldwork dates : 7th to 14th June 2012
Respondent Type : General public

J12-037772-01 Weighted. All fieldwork. Not yet coded. Suppression and ranking applied.
Source : Ipsos MORI

*=Less than 0.5 %

Proportions/Means: Columns Tested (5% risk level) - x/a/b/c/d/e - x/flg - x/h/ifjlk/l - x/Im/n/o

*small base
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Table 11

Ipsos MOR






